y o ilCe 4012 Revxew For Exam Gf
45 W’_mch of the followmc nve Stat’:m“ms accu:alply aPscnbns the current simplified atomic
model? ; (3 marks)
a) - Neufrons are positive, while Plectrons are negative. (NEUTREVS ARE NELTRAL by
b) The total volume of the nnclens is very small compared to thc total volume 0
: atom. :
¢y  “Electrons revolve mthm well-defined energy Lvels arranged around the nucleus.
d) . Themass of an electron is 1840 times greater +han that of 2 neutron, ( ece ox Qowvs A Qs
.¢).  Neufrons are particles that help kepp the nuc]Pus t00°tnar ; R4 TiMEs S M
Answers: E’b C- P
1- . - Which of Ihe fo‘lowmg f e statﬂments accuratnly aPsmbes thc current simplified atomic :
model? (3 marks) i
a) .' The mass ofa proton is 1840 Times gycatsr than that of an electron.
b) The ratio of the mass of a proton to that Ofr. neutronis 1. '
e The meaximum number of electrons in the 1% three energy levels are: 2, g, and 16 -
respectively. € 2 B ADD R S TR
d) Protons travel within well-defined zones called energy levels. (B(8cCT RotoS PARE GV LBVELS
ey e nucleus contains protons and neutrons with opposite charges that neutrauzc

_each other. ( WOT QWOMT— TR ARGES - &P\D\o'\‘cws fL@\_‘ @gg.‘ﬂfrc\.lf.
as s : : ] : ' ‘N\:;\_L VoW § m\* = TR AL
Answers: - P\\%- . SaE PECTE NG

2.1 _AWhJCh of‘rhf= following five stat ents pertain 1o “netals‘? e . (3 marks)

: a) : They aredull. . C \*\Jo\\:* U%L_T&L. L_DDVQ \guu,)

b) They are mallgable.
c) - Theyareall solids at room temperafure. (NOT. MERC uL ey Hcé N
d)  They do not conduct electricity. (uesAcs Dol) i

ey . 1 Their position is given in crey in the follomncr pemodw table.. (HLT ALS ARE Ow TWE

' - ey e
e LERL & mae AR

CTAILRCASE CLLE) .

r.




Which of the following five statements are et (3 marks)

Metals are ductile.:

‘a>

TiEs s ilihe alkali metals react strongly with owcmn and halo 0ens.
c):  Metalloids have properties of metals and nonmetals.
. d) .~ Nonmetals are poor € electrical conductors. :
el Hycnom:n b= l@ncrs to thﬂ family of alkali metals. L HY DROCEN LS s A A
i oF iTe oW LY
Answers: P\ (-5 @& D

the ulﬂc‘cron confl crura’flon, family

efer to the attached periodic table.
: (4 marks)-

wl

Complp‘fc the follomncr table, ewmcr where pocsﬂole
name or psnod number of each element. If necessary, T

FEISC‘E[‘OI} configuration of Family name. Period number
the element . : g oy e ke
- Eme o Hion 3
p= \Se e e e CAvey sENItTogen 3
e s 2e 8e ; NoBLS, LLERT, RARE CASES )
Ft“\r: e 2¢e 8¢ 8e NOBLE | IERT, RARE GRSES B
ol 2e 8¢ 4e [ ALY oF cARBOH 3
Sno=aibes Zor S s | Alkali metal 3
o = el Je o [EAHILY o0& WTIROEEN %, J
Ceo= B0 2e 8e 8e 2e Mtu;(&uma —EART e-g__\—,w;l o \
e e A met ‘ g |
&= Qe e T o=Oxygen P \
Mooy = \2ET 2e 8e 2¢ ALKALINE- = AR METAS 3
S = s iceEen Bt i of BWORON | = :
= Be T Y Ve Noble gas 3 Pee
- 4, gl Use the periodic \.ablﬂ attached to Imd the silicon (Si) isotopes among the
elemenis listed below. (’3 ma:ks) i s (R bave PROT 44_\)
[ Elemants Number of protons Nu.mber of neutrons | Number of electronsJ
e A 14 14 L3
B 13 2 e
e 14 § 13 14
D 15 14 16
= 13 3 12
e E 14 135 e

i

Inchcate whether ‘the SIX

clements above are e neutral atoms, anions of cations by

nlacing their corresponding Ieters in the approprate boxes. (2 marks)
A Neutral Atoms | Anions - Cations
e e A= o- =
(5A-E Num\p,‘.\u\ &= (MoRE BLECTROWS Cters \Dp\gvcus

Al oA macme N TR O ORTAWS T AR RUSETaAane )



a) - Use the periodic table attached to find thé sulphur (S) isotopes among the .
elements listed below. (2 marks) ALE. & (Al AV |G pRoTEMS )

Elements | Number of protons | Number of neutrons [ Number of electrons
A T ik 15 e 16 3 \
B 15 | o 16° % '
; z 14 - e 13 :
% D i 17 ‘ 17 | g
ok i e s 16 e 1
Ls F i 16 ,. = T
) Indicate whether the six elements above are neutral atoms, anions or cations by
" _placing their comesponding letters in the appropriate boxes. (2 marks)- .
" Neutral Atoms e Amnions S o D PR
D e e ch B |

( aRE ME Chsius CHO RS PoSLTIVE.
BLE T RoiE TEANY PRoTOVW S T Aua -
. Ee Asios E;L—\EC-—TRC}L\.)SXA

(s Ame Dum @ E_{::%@‘E—
PosiTiveE PRETOWLS
fT e GATIVE PosiTive PRoTows)
2L S TRews Y



o

Elemnent B: family
. Element Q: .~ family
Element R famnily
Elemment St - family

@ USWE THE CRESS~ovER. RULE |

5. (4 marks) Give the chemical formula for
* of hypothetical elements P, Q, R, and 8. i

the binary compounds formed by the combination
e farmily mimber of each element is given below:

1A ( ClvER oF OWESD @i
i s e s O ;
VA (GLERGR TAKER of Four 1 (B)
VA ~ ( TAXER ot ThrREES B )

Answers:

| Compound formed by P and R

[ Compound formed by P and S

— O > e - DD =
L S \ Pa R <5 |
Compound formed by Q and S : Compound formed by Qand R : ?
. -\Ch-%_ i o AR, R Y ® anog;tﬂ;

5 @ maILs) vag tb_e chemical formula for ‘
elements W, F, B, G, and L. The positions of these elements in the penodic

- of hypotbetical'
table are given. below:

__ ®REMETHRER -

e

W]

N} L&H\%E_'@___' FANES e R F\‘R“‘:‘\—\.‘

the binary compounds formed by fh;a combination

e e e e T N TR LowesT & Row p

Iz

g

-

we

) c s ntae et s O
jF— SRR . o S G
R: CilveEkR o& Tawraes: D

@‘;. TAKER

TREE ERUSEE B )

S e o (D

Answers: . : :
Compound formedbyBand G - - | Compound formed by WandL  © °
o r’_ e Dy ' ﬁ :: e
= %&Q 31 W : AN E SAHSIDUWHBER. =
= s ] ‘ CLE CEEACH ,
Compound formed by F and G | Compound formed by BandL . -

® & ==
< Ahe 1\.)@*«_@;;&: . . Obp

OINE oo = RCEN o




=

3.4 marks) Match each of th

substarice. Fill in the table, wntm.g the letter for

« substancés i the table below with the appropriate category of a
each category next 1o the substance 1t describes..

Categories: A = Selution
: B — Element
C = Suspension ‘
‘D — Solid mixture
E — Compound
‘ Substance Catesory
e G D |
Table salt e = ':
A minum W .9 i
| Dairy Qusen Smarties Blizzard -0 = i
Ocezn water~ ( 1& CUEAD) A |
Vinegar : - A )
White gold bracelet Eadiot) i |
V3 juics * . ; OB o a2
7. Complete the following iable, giving either the name or the chemical formula of the

" compound. The names of the polyatomic ions are gi

ROLE ) AvD e

ven in Appendik.. (4 marks)

L Ruce &2 (GReups)

Chemioal formula

Name according to the new’
nomenclature ‘

Name according to the -
fraditional nomenclature

AsFs

{ARsEWIC PELTARUORIDE

BasNa | Barium nitnde . L .- s 2
o e - - . |PovASSWASUSULEATE:
Cs-Cr0y | : ceciut CHROMATE |
AR POu. ! Aluminum phosphate |
Sl .| Carbon tetrachloride , ‘ LT, e
[ NaCH2C00 o : | Sodium acetate J
G |Crronium () SuLEive |, ‘ i



i Inmcate Shcthict, AecOramng ToEne BILoy B Stesaim e T
_ below is an acid, a base, or & salt. Explain your answet.

=

_‘b)

_ 'ld)

o

(4_ martks)

Ral: %P\‘LT

STARTS witd A HETAL BiD S wiTH A O — MET Al -

H.BOs: B id

%‘r.ﬁc@a—% S

T HmmsGwJQf)END%‘“*“*NWN‘HETELS

Ca(OH)x: P;Prae_
STARTY Wit A METAhC, - EauDs WLITH GROUWP UNDROoXIDE CBH)

S*'O | %P}L‘T“l |

emfpTs oonwhe METAL, EODS wWiTH bota— mETAC

s Pcc uD

STF-\‘LT%. Vot it WY DROGEW (‘H\) F\\)Dswt T hewy -~ Mt:—_vf%tf‘;‘a

\\>c:>\ P \%/’Lsr “«

PBrs; MO‘E‘P: SJ%L,». levy Fr\u. PruD

TWe hob - HEVALS To earrm—_p\w\

FeaOs SPrL:&_ =

STARTS WiTh METACL, BNV S Vo (Th MO — L ETAC

Liog __BAsE

QT ARTS W iTi A HETAL, Cps VoiTH CReuwP WY DREX(DE CCS\‘T)




N

sts Lsm litmus papet and 20 elf:u’mcal conducTvity

o " A stugent conduct=d laboratory &
‘ detector. The following table shows the 1&5111‘& for the five liquids tested:
. (4 marks) -
| LIQUIDS : 5 P43
TESTS | A : | B e D e :
(€endhcs | Not i -+ e - :
current : : : I
Red litmus Red | Red Red Blue | Red i
 pap=t ' ' S
fums/remains , | e
| Bine litmus | Blue Blue el Blue Red '
ﬁﬂsfrcmams

. On the basw of thebe rusults 1ndicate:
a) " Whieh liquid is a solution of base andAa éﬁgng electrolyte?
b) Which liquid is & solution of acid and a strong eléotro'iyté?
: ¢c) Which hamd is a nor—placﬁ'olyt soluuon"f’
d) Which nqmd 158 Soluflon of acid and a wea.k electrolyte?

&) W}mh lwqmd 152 nw:ral salt sohmon’f

=) QE»LQE—,BLL.LEF\{ES",%J&)

C C'RE\D—'RED— Ness -%.'k'—t]

A (Rrep-awe- be )

= (RED-RED- YBS. &)

C RED~— BLoE ~ fEs: ‘T-g'-»—j

9. (4 mancs) A smdmt conduow laborato-y tests using litmus papor and an el‘“cmcal
conductivity dut,ector The following. tamle SHOWS Thﬂ results for the fm: hqmas tested:

o

: TIoUms - | . Bt ,

TESTS . | B I e e

Conducts” i " o e S =

current il e . ‘

Reditmus  |Red = |Red [ Blue Red [ Red &
paper ] ' ;
turps/remaims | e : l : ‘ J
Blue itmus | Red Blue Blue  Red Rlue

papst :

DIMS/TSmAINS

' On T_h° bas*s of these rssuLs mdicate:
, a} thch hqmds are soluﬁons of strong electrolytes’? A =

& b) Wmch hqmos ate solutions of W;d\ aluctrol}ies? : &

e W_hiah liquid is a salt solution?

£ (Rep-Blus-Y as)

d)” Which liquid could be distilled water? B (Reo-Beus —No 3 :
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10.

10.

e

Llst the Iollowu; g substanc
" the least acidic to the most amdlc

o< 'if1 ascending order of acidity — Il in othet words, from
| (4 marks)

anltte Nﬁncamdatl}\lo mol/L. '.(P14_z \) '

o -\fmugarhas @T-I of:;)

chie Water*sneutral (pk-\—’-?-

d)  Dranohas 2 ' concentration of 1\{1@ (pr= i)

_ADSWET: Dl @

List the followm o substances in ascending order of ac1d1ty n othﬂr words from.

the Laast geidic to the most acidic. (4 marks)
'2) . Tums bave a(pH of 10.8
o)) _Ramwater has QH of 5. )
c) The H' concentration of ]emon juice 18 %107, g P pe ‘53

A Barium hychoud= hasa H o uoncsntfatmn of 1107 mol/L. (U? il \q)

_Answm D P( % C,

Tist the following o substances in ascending o order of auld_t}/ n other words, from -

the least acidic to the most acidie. (4 TaTks)
) ° . Anorangehasa H* concentration of 1%10° molL pli = e
b)  Maalox has dpH of 11.5) . :

c) Milk is almost neutral. L P H = FJF‘} - ' : :

d) . Ap umdanuﬂ“a solution 11as 2 ' concentration of 1x10°° mol/L. (\? W G ) t

Answer: SlE s

List the following substances in ascending order of acidity — in o‘rhe' words, from

the least acidic fo the most acidic. il (4 mﬂfhs)

2)  Blood(pH="74)
t)  Hydrochloric acid with @H o}
c) Pure water pH=7F)

d)  Tears{pH=172 |
CBIS(B 3 @\{T__S‘)

= -Grapss: concentration of H=1 X102 M

f  Oven cleaner: concentration of H = 1}.101’M Q \%)
2 Utine: concentration of pH = 1% 107 mol/L C tﬂ_;, - 5)

_ Apswer: “;’:Jpc.l-D,C} G‘,E‘) \3



a0, NOs, and Oa: Write
ction. Show all steps.

~ 11, ECopper (W) nitrate (Cu@Os)2 )
the balanced equation that TEPIES ents this

(4 marks)

‘ j_ C_u; C;Q\SO'BS_;__ 7.__.———-61

) decomposes to produce
dscomposition Ied

1euo ~ 2 o EERE
| ey
el @c. 7 C

3Hg) 15 coﬁbiﬂéd with éxyggn (O,,_)’
,0). Write the Halanced equation

e

i \%\fhen proisanéh(C it produc.es carbon diox de
~(COy) and stezm (F that shows this combustion.
Show all steps. ; 5

(4 rnarks) ;

NS

=, B o

1% When iron oombmeé with oxygen gas (O2) and water, iron (111 hydroxide“ : ,
(Fe(OH)3) 15 often produced. Write the balanced equation for this reaction, which ~ *

shows the production of rust. Show allgteps.
(4 marks) ' i L

. o Cowd,

OR A
e e G KO —s Y Fe Cor),
11, When ammonia ges (NHj) 1s bumne
products result: NO,, and H,O. Write the
. reaction. Show all steps.

(4 matks) |

d mn the pre‘sence of ox-ygcn(Oﬁ), the following
balanced chemical equation for this
O, — 2NO, * = b

G

—= ‘—_J\'"\\_scja e o o

e e

% ‘L—\ Vs T rjrl.O-_l



combined with dxy";geﬁ (O2), it produces FeaSOs hatel 1 ¢

- 11.  When iron pyrits-(FeSz) 15 com
SO, Wntethe balanced equation that represents this combustion.
" (4 marks) 3 ; : | '
: ,
‘. Fos i A SEn s e o = —
11.'7 . When CoH is burned with oxygen (Oo), it gives CO2 aﬁd Wai& (H:O).- Wrnite e
:  balanced equation that represents this combustion. \ :
(4 marks) 75 : :
e O, Al £SO
e Bty - =

:s burned with oxygen (O2), a gaseous phogphdrous oxide

11.  When phosphorous (P4)
tion that represents this combustion.

_ (P;0y) is produced. Write the balanced equa
(4 marks) ; : : :

e Sog;%—e»(é_ P

« burned in the body, it reacts with oxygen (O2) -

11, When ghicose (Cs&h206) 1 _
the balanced equation

to producé carbon dioxide (CO,) and water (H.0). Wrte
' that represents this combustion reaction.
(4-marks)

2N



12‘. HH__P:J__Q_-____E.DO L | S g R ST
A A mx: of chémical bond exists between these two elements?
e e
e
b)  Explain what led you to this conclusion. ‘ iy
D DIFERASCE OF ;L:QTﬂﬁNFGMTWU\TY U=
'\L?FDQ;MC({E% @"?O z %O’Q %l{’h_‘(
. ' ‘ Ka= 5 L—-“—‘—L“'
e) szc the ‘I ewis diagram for each of these slements.
: _ se
Nisaii e s s
. S
QG\M; ‘5“‘;} gl , C,‘T/qu“ cun.:_)
d) . Givethe Lewis dlaEI'aIIJ of the compound formed by these rwo elnmunts 25 well
" ps its stroctural formuia representation, if apphcabl
. Faty ) Fom-\uLﬁc., e ol
S G LR '
Mo S jroemag R :
' : Sl FoRRUL A % e e
12 N S T : are two elemf:nts S (8 rﬁarks)_
'a). 2 What typeof c‘zumlcal bond ems*s b*”i‘\’v"“‘n th\.ss two clx.ments7
POLRR  COUALENT
b)  Explain what led you to thls concluaion
THE DIECERSCE OF EL,F;QT{LDN'C—_& BB L *‘r\g
\S -,.EETW\?:F_J\J S S Awvo ) i N =
T b : Gg%eaoé o'
o Gwc the Lewis dlagram for each of these Plcnunts
: S A
Q :
o k\j £ : : V .
j , | .
(supre ) = am Q3+ARLF¢)
S} Give the Lewis dizgram of the compomd formed by these two ulcmﬂ-ntc as well

as its struc:tural Iormula representation, if applicable.”
Forrus N Fa
X \‘_‘_ * S 5
P LS

T e : ST%AQTARKL e o
et e :
* = s I\ o Pi VGanum L \ ‘
e ‘ :
'3 X % (.‘_ e N g \:



" 13. A sugsr solution doss Lot conduct electricity. {4 marks)
| 2) Dlustrate, in the vessel shc_{m below, what happens Wh:n sucrese (Cy JH»011) 18
Jissolved in an aquecus solution. ' i ‘
Cha \__k pE-E C)u
C.. ('S L"\Fg‘;_ QL\, :
By What type of dissolution takes placs?-
- Hotecoucan B SSOLLTLAN
___ ©) Explain your answer. : s

DoR s \xjj't s T PRESERVED, THE SULCROSE
e e e Gets - 50 THE cucAR sctiiTien
CRMBEOT FOMDBUET Bl ECTRLCITY, S . _
13 . A mitee acid solution (HNO3) is a good conductor of electricity. (4 marks)
a) ° - Iustrate, in the vessel shown below, what happeris when this acid 1
an 2qusous solution. - ' -

s dissolved 1n

I , NOy™
et Lt
nis Nens

Mg BT

b) What type of dissolution jcakés place?
& e piss oo v Dl
c)  Explain your answer: Y et _
o= ol N oo GRE ECEC TRELYTES BRI NL?.@\CC‘
. C__‘ T : - . - A 5 R il = TG
;F’t LD Lo lll SRLIT INTO LOWS WaEN DISSOLVED LN WATER .

- A& bW ~ = -l
e s e e R e e S e S e N

& - -



\7\-'?30.4: \ K \‘b{,’}ﬁcﬂ»t e s T G M
e mo o 28,014 (&)

Codle s (OY\LE 90.30.)_'” %55?)‘3'—’\
e

|

e ‘-Givsntb“ foﬂoumgtbra: s@luﬁms :l(b 4 S
Sohimon s Jmolof Ba(NO 3)p 10 4L 1 of solution

Solution B: -~ 0.18 mol ofBaO\Osp in75.6 mL of solution
24g ofBa(NOSP in 55 mL of Soluuor' :

Solution c
Which solution hs the highest ¢ concentration’ of Ba(NGs)2? Yom BTISWET I —mst
molud.. the formula or form nlas nsed and all of the calcmahons mcluﬂm@: a clear

dacaﬁon of the units of measure.
: ; (6 maILs)

W\g: L\T 0%03%

V‘A .*_ cﬁmﬂas
V\/\P‘ 135& O\S%

"\_/F“ L““ = 6wl = 0,0F306L

|
-

I

|
e
1

l
f

Ca=wpe_ 335205

———.

Cefvig_ _ 4oho 3

==

Vg - ° 00336\

QWS.". SOl T s

‘ \%/%5 THE WicwesT

COWL\._NTF{AHOM '_

4 _'Gwez L the follome ing three solmms . |

s el
— e, —

3gofmc13m1:omofsouuon L afd= e 392 _; o oly C

0 of AlCl 57 Snow all work

‘ "?Solutm_nA
Solution B: © 3 mol of AlCl;mn 15 Lof solution 3 x D= 3x 3F
SolutienC: 13 gof AICls n 12 L of sl e % Lo
133 34\ e

Whlch 50 lition has the m_nest concantraﬁo
(6 marks),

%L\uc_\_ ﬁv—fm& or ﬂi@ — e 3%\?‘—“’“4 | \N\ . \l‘b'*..
= %W ' \‘V\\a 3“0\15 y | ?}
\),ot \5O\ML O'.' 'LS@L [ \mg—- %oo 0’3\33

Sotteriow B
BAS THE HGWESTY
CORCLEN TRATION .

S




RN e s e D ctd, JO J

£ Lyt ool o \ oo %
’3 s s el Sl

i) =

o Given the follow]ng thfee solufions:
Solution A: DO g NaNOs in 0.5 L of solution-:
Solution B: 0.1 mcﬂ NaNOs in 100 mL of soluncm
Solution C 0.18 L_ NaNOs3 i1 1L of solution -
: W’fiich szjluﬁon has the hig_hest DOHCEEII&IOZI of N&MO3 9 Show all work.
7 : : 6 marks
SHhaCe - i W\OLL or \\)cx\\)Og_ 8(‘\ %%BC})’L&M i ; i
| C_. = O ! ‘8 K‘} ' }

\n% -_O\\ ’WLO\Q o) {

Mo 5OL,u TLO W & HAS THE HLGL—‘fCST’ CDMCk:L)"{RHTLOM :

ten ’730 I'D_,JBIS of fcruhznr

Sl chemist decides that he Wants to pl"'parf’
' decides to prepare some dllut»d

_,Unfortunatulv he has 1o diluted nitrie acid. He :
mitic acid by usmg a concm*at,d (18 M) solution of mtnc aczd (HN Os). He uses

-’730 mL of tl-ns than adc'.s Watcr u;nul he ootams =) L

What is the conccntraum of ﬂ:l“ ciﬂuted solutmn of £ nitric ac1d‘? Your answer must
fthe calculations, including 2 cleat

mcludf: the formula or formulas uscd and all of
indication of thf ‘umts of mcasu;e : - marks)

C, =¥ Wé'\/L il' &
\J\ SO vl = O3S L S
o | ; 5




concentration of ammonl

53 housskeeper needs 2 solution W

nsing a spray boftle with
should she put in her SpI
formulas used and all of
of measure. .-

FORMULA S ©

= A hopsekesper WaBS IO Tos E0 6 -2 570 o 1 1 o] .
00 mL bottle 15 14 mol/L. The

a (NHLOH)ina> ‘
hosée concentration of ammonia 1s 0.2 mol/L, .
Titres. How much undiluted ammmonia

8 capacity of 12 .
t include the formula or

ay bottle? Your answer mus

the calcunlations, including a clear indication of the umits

- (4 marks)

e .lc_é‘"\).au




T 16. A rteg soliaOn 15 dlweys B
sohition. The solution remains co

mlormﬂﬁou m the fol_o wmg table

loriess Wh"Il indicator D 18 added to it. Use the’
o deerme the pH range of ﬂlls solution.

Indicators Change of color  Turming point |

S ' Red“> Yellow From 3.0t0 4.4~

B Red == Blue From 5.2 to 8.0 i
e [ Clear > Red - From 0.2 10 2.0
D ! Colorless = Fuchsm | From 8 2 to 10. O

Includs all &1=‘= st eps n your answpr (4 maILS)
= P\E o ? =D C‘) To O
e Sy Toi o 5

?.:D QOTO \"‘{ .
Q*:;"

\M\D\QAToP\ 0 = QOLO\Q\L\—-SS ? —D D el

CAL,L e BN ‘cﬂ:&\ P = R.Amc:wc; = ROaE ‘@

mpd when M, N, or O is added to an unidentified
dicator Pis added to :

\MD\QP«;TOP\ Px
. M\)D\,CP\TOR 8 = R\r_ﬂ

oD ¢ A ToR c_ = RED

_A\\)S

ek A 'blu., solution is alwa} s-obta
: lsolu‘u@n Th° sohmon is red when 1D

_Us= thf: mformanon m the Iollowmg table to detsrmme Thv pI—T rancm of Lms '. |

solu‘uon, e

Turning point

Tndicators = Chaizge of color
M | Yellow ->blue ~ From 3.8t0 5.4
IN Red -> blue. - “| From 5.2 t0 8.0
©. | Blug >yellow -~ - | From:12.0 to 14.0
P [ Yellow ->red : " [From6.4t08.2
| Includs all the steps i your énsvgqr. 4 mﬁﬂxs)
[WDlcATOR M = el = S M e
: \MD\ Q[‘\TT—D.\D\ K= PJC_U\Er? =1 8(’_‘) T \‘—]
A N\O\QHTGR\O-"Z %LL«LEO = Dw—o \Q'O
tw\DLcﬂ-Tog \P = R\,kw(?_ =D 8 &ro \L’l

\~—"_‘~————--—""'*\-—

Mo eit 0 A TDGRTH‘LR.) ?\‘)* RA MG\- =

ig.\g;m] _



‘solution. The solution is

r&w»

16, A yellow solition is obtained wihien m
' blue when mdicator CorDi

dicater A O B 18 added t0 an umidentified
is added to it. Use the :

information 1 the following 1ablé to determine the pH Tange of this solution.
-i lncﬁcators _ | Change of color Turning, Pomt " - |
: : ~ * | From yellow to blue From 3.8 t0 3.4 :

| From yellow to violet From 7.6 to 9.2 i

. | From blae to red From 2.7 t0 3.7 e
L e T i romblm.tocolo rless - mo*n4:>to90 =
Inciudz all fhe stf:ps in your ATSWeT. : (4 marks)
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solu:uon A red solution 15 obtained when mcncator lor K1

: Use th° mfoma‘uon m the
solution. -

AeE = CD To Q

' : 15 A Vlolet sohition 18 ODLEL]_’D“d When indicator h orJis addad 10 an lmlCl"ntJIled

15 added to the solution.

fo]lowmg table to detﬂrrmnc the pH range of this

o | Turning Pomnt -

‘Inctude all the steps in your

e s o
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[ Indicators Change of color ~ "
B Vellow to violet | From3.0to4.6
e Vellowtored I From 10.1t0 11.1 .
s | Yellow to violet | From 5.2 10 6.3
e - [ Yellowto red .. L From 6. 4 to 8 2 LT e
(4 mams)
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@ By burning 0. 73g of sucrese (Chmineamlmibtes e w7
for a mimite, The combustion of this quantity of sugar is sxpresscd by the following

hemmalequﬂtmn_ : gy AVRSEEY SR
: < : ‘ CquzOn + Oz =>CO; +H2O

Two astronauts burn 15 903 grams ofsucrose durmg 2 7.5 day ﬂxghtona spaoe

' ghuttle. How many moles of arc ne=ded to burn this much Y Your o
answer must include the formula or formulas nsed and all of the calculations, -
mcIudmg a clear mdma‘uon of the units of measure. S marks)
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Sodium carbonate (Na;COs) isa compound used in the manufacture of glass. Smce
very little of it 18 found in nature, it 1s manufactured using two Very gbundant-
components, calcium carbonate (marble) and sodium chlonde. The u'ansformauOn
is expressed by the followmg chemical equation: e & (R ey
CaC(33 + NaCl > Nazcos + CaCl,

- How mauy grams of] sodlum chlond% are requlred to form 4 3 mol of sodlum
carbcnatc @9 _
Your answer must include the formula or fcrmulas used and all of the calculations;
‘mcludmg a cle:ar mchcahon of the units of measure. = - (4 marks)
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— Sam spﬂled some drain cleaner (NaOH) on the floor. He decided to attempt to .
F ncun—aﬁze it before cleaning it up. To t}ns end, he added some vmegar (CH;COOH).

"'é) | Wnte the equation for the reaction. -

NAOH + C.H C.DOH s s e G i cae

) Why does this reacnon have a neuuahzmg eﬁact? _

: _h BASE WwreeD TN THE RICHT PR PORTIOW \,uxu_
MELTRALLSE Any Acid  AvD \}\C_Eb\)EQE.R\
J%s:co\w— wa\EEL Per SRL.'T“ R
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: 18) TUMS contain calcium hyd.rox:ldc Ca(OT-I_);) Theyare used ton*=u’trahz*= stomach
acid (HCI). Use{equations Jto explam how the antac1d TUMS nges you rehef from
‘ ac]d mdlgesnon and heartbum_ s !
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ACLD + "BASE ¥ \wAtes + SACT.




